A thin, non-conducting disk of charge Q and radius B, centered on the origin, lies in the r, y-plane, as shown. Electric
charge has been distributed over the disk such that the surface charge density,
olr) x (RBF = r%)

® 3a) (10 points)  Normalize the surface charge density (that is, find the proportionality constant sl write the
charge density tn its final, normalized form. '
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¢ 3b) (10 points)  Find the (vector) electric field at a point = along the +z-axis. For full credit, uso the
normalized surface charge density. lemnymampﬂdﬂrmdﬂdywu&ecﬁrﬂmmmnﬁmﬂmumm

instead.
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e dc) (10 points)  Show that in the limit = = &, the expression for the electrie field reduces to s fumilise
equation and discuss.
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